19

23

28
12y Original Nut M10 Typ.

2
31
18

Light Bar

21) 26 (S Catalogue number 558003

/ DETAIL A

D — —

2
2
3 Registration Licensing N:9613222388
! Original Bolt M12 Typ.4 Standards Institute from date 21.11.2016
® . NAME | SIGN. DATE__|Prawing number Product Description
Winch Fuze 8)22
Contdeni — CHG. TYW88.000.000 | Vehicle Manuf. Toyota
gy e g e sger. - ONGINQl BO M8 TYD-3, [ pw. | Leonid | —~, [20.11.16 Vehicle Model | _Land Cruiser 200
c’&i}y‘%;‘1'35&;&2?5?5?&&%352?25‘1%?50‘!‘51;;’13&555;;%23&?Q‘Z,fﬁ?ﬁi“&; PLN. David \ﬁ 14.12.16| Drawing description Vehicle Version 5 doors
of 1t not for the purpose intended-are strictly forbidden. CONFIRM Danl 7 o ATL WinCh Bumper VIN JTMJvo3J7D4105899
Maximum Tightening Torques Year of Product. 2009-2014
M8 (8.8) 25 Nm Catalogue number Gear Shift Automatic / Manual
M10 (8.8 50 Nm ASFIR LTD. 558002 Motor Model Diesel / Petrol




TEM | P ART NUMBER DESCRIPTION ary.| | V| PART NUMBER DESCRIPTION QrY.
1 |TYW88.000.002 Right Bracket ] 21 3037 Hex Nut Nylock M10x1.5 DIN 985 8
2 | TYW88.000.003 Left Bracket 1 22 6029 Washer 6x12 DIN 125 1
3 |TYW88.000.010 Left Holder 1 23 6011 Washer éx18 DIN 9021 4
4 | TYW88.000.020 Right Holder 1 24 6000 Washer 8x24 DIN 9021 2
5 [TYW88.020.000 Left Support 1 25 6023 Washer 10x20 DIN125 8
6 |TYW88.030.000 Right Support ] 26 6010 Washer 10x30 DIN 9021 8
7 | TYW88.100.000 Bumper ] 27 6006 Washer 12x24 DIN 125 6.
8 | TYW53.000.002 Switch Holder 1 28 6009 Spring washer 6 DIN 127 4
9 | TYW53.010.000 Plate for winch ] 29 6001 Spring washer 8 DIN 127 2
10 917503 Led WorSkOLrir%‘;r?;roﬁéir?ch 20W 5 30 6008 Spr?ng washer 10 DIN 127 2

31 6005 Spring washer 12 DIN 127 6
11 7310 Spacer @ 16x2.0x55 SS304 2 20 (944 Low Rubber U Shape for 3mm )
12 1104 Hex Bolt Méx20 DIN 933 7 L=950
13 1058 Hex Bolt M8x80 DIN 931 2
14 1029 SOk Tox s DI | 2
5| e | Moo eadiavais ek | 2
16 1010 Hex Bolt M10x1.5x30 DIN 933 | 4
17 1072 Hex Bolt M10x1.5x40 DIN 933 | 2
18 1248 Hex Bolt M12x1.75x30 DIN 933 | 6
19 3007 Nut sheet Mé 4
20 3006 Hex Nut Nylock Mé DIN 985 3

Confidential Drawing number Drawing description
All rights in and to this document are property of ASFIR Ltd.and reserved to it.

This document is forwarded to the recipient under the condition of and subject i
to the obligation of the recipient to keep the confidentiality of its contents. AS FIR LTD . TYW88 .OOO . OOO ATL Wi nCh Bum per

Copying transfer of distribution of this document or its contents and the use
of it not for the purpose intended-are strictly forbidden. Sheet 2 | Sheets 3




Cutting of the Original Bumper

Confidential
All rights in and to this document are property of ASFIR Ltd.and reserved to it.
This document is forwarded to the recipient under the condition of and subject
to the obligation of the recipient to keep the confidentiality of its contents. N
Copying transfer of distribution of this document or its contents and the use
of it not for the purpose intended-are strictly forbidden.

Drawing number

TYW88.000.000

Drawing description

ATL Winch Bumper

Sheet 3 | Sheets 3




	Sheet1
	Drawing View2
	Detail View A (1 : 2)

	Sheet1(2)
	Drawing View10
	Detail View A (1 : 2)

	Sheet3
	Drawing View12
	Detail View Q (1 : 2)


